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[ 5015 Introduction to‘Manageméit II (ST 2006) — Final Exam

Examiner: Prof. Dr. Wolff

You will be able to make a maximum of 60 points. There are a few pieces of
advice we can offer at this stage:

1. Use the theoretical tools and terminology you have learned in class and
from the textbook.

2. Make sure there is a clear structure in your argument. (Use some time to
sort your ideas before you start writing the version you want to submit.)

3. Use the time you have! If you are ready much earlier than we planned you
should wonder if you forgot something.

4. Remember: people have to be able to decipher what you write.

5. Leave a margin for our comments, so we can give you a more detailed
feedback than just the number of points.

Here is the set of problems:

Please solve four (4) of the following six (6) problems (maximum of 15
points per problem):

(You are welcome to use a non-programmable calculator.)
1. Multiple Choice

Write the answers to each question on the answer sheet. For each incorrect
answer, half of the possible points will be deducted for that particular question.
If no solution is marked, you will neither gain nor loose a point.

1. In market economies, individuals:
a) bear the wealth effects of their decisions.
b) require guidance from a central planner.
¢) have no incentive to choose efficient actions.
d) trade decision rights to those without specific knowledge.

2. Competitive pressures:
a) drive prices up to ensure profits.
b) create inefficient organizational architectures.
c) force inefficient firms to shut down.
d) all of the above.
e) none of the above.

3. Decision rights are more likely to be decentralized:
a) in rapidly changing environments.
b) if the firm is less diversified.
¢) if the firm is smaller.
d) when the coordination of activities is less important.

4. The degree of rivalry is generally higher when there is:
a) no excess capacity.
b) low fixed costs.
c¢) significant product differentiation.
d) slow growth.

5. Lowering production costs causes:
a) demand to shift to the right.
b) demand to shift to the left.
¢) supply to shift to the right.
d) supply to shift to the left.

6. Implicit contracts:
a) are backed up by legal documents.
b) are easy to enforce in court.
c¢) consist of promises and understandings.
d) are not important in resolving conflicts of interest.

7. Corporate Culture:
a) consist only of explicit contracts.
b) is easy to change.
¢) does not depend on organizational architecture.
d) includes many aspects of organizational architecture.

8. When the objective for a cost center is to , then the managers
have incentive to :

a) minimize cost for a given output; choose output to minimize cost.

b) maximize output for a given budget; increase quality to reduce costs.

¢) minimize average cost; push to increase output when there are
economies of scale.

d) minimize average cost; push to decrease output when there are
economies of scale.

9. The optimal transfer price for a product or service is always its:
a) opportunity cost.
b) marginal production cost.
¢) marginal revenue.
d) all of the above.
e) non of the above.

10. Spot market transactions are characterized by:
a) many sellers and no long-term contracts.
b) many sellers and long-term contracts.
¢) many different prices for a given product or service.
d) few sellers and short-term contracts.
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